Renew-A-Bean Lab

Objective: Students will understand the difference between non-renewable and renewable resources.  Students will understand the long term effects of using non-renewable vs. renewable energy resources.
Materials:

2 Zip Lock Bags
2 Types of Beans (100 total)
· Part I Bag (96 Black Beans, 4 White Beans)

· Part II Bag (50 Black Beans, 50 White Beans)

Pre-Lab Questions:

1) Write the definition for each term below:

a. Natural Resource


b. Renewable Resource


c. Non-Renewable Resource


Procedure:

Part I: Continuing Bad Habits
1) There are a total of 100 beans in your bag (96 Black Beans = non-renewable and 4 White Beans = renewable).
2) Have one student in the group blindfold themselves and then pull out 10 beans.
3) Count the number of black and white beans.  Enter each number in the table below under the “Year 1” column.

4) Put the black beans off to the side.  These are non-renewable resources that have been used up.  Put the white beans back into the bag.  These are renewable resources and can be used again.

5) Repeat this again until you run out of black beans.  Enter the number of black and white beans pulled for each year.

Part II: Changing Our Resource Pool
1) There are a total of 100 beans in your bag (50 Black Beans = non-renewable and 50 White Beans = renewable).
2) Have one student (can’t be the same person as in part I) blindfold themselves and then pull out 10 beans.

3) Count the number of black and white beans.  Enter each number in the table below under the “Year 1” column.

4) Put the black beans off to the side.  These are non-renewable resources that have been used up.  Put the white beans back into the bag.  These are renewable resources and can be used again.

5) Repeat this again until you run out of black beans.  Enter the number of black and white beans pulled for each year.
** Use your data to answer the analysis/conclusion questions below.

Data Charts:

Part I: Continuing Bad Habits (96 Black; 4 White; Total = 100)
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Part II: Changing Our Resource Pool (50 Black; 50 White; Total = 100)
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** If you exceed the number of years on the table continue the table on a separate sheet of paper!
Analysis/Conclusion Questions (answer on a separate sheet of paper):

1) How many years did it take to run out of renewable resources in Part I? Part II?
2) 10 beans represents the amount of energy the United States currently uses.  Did the United States have enough energy at the end of Part I? Explain why or why not?

3) Did the United States have enough energy at the end of Part II? Explain why or why not?
4) Describe two ways you could make energy last longer?

5) How does this activity illustrate what is happening in the world?
